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3) Jimmy and Gabriella are selling cookie dough for a school fundraiser. Customers «
chocolate chip cookie dough and packages of double chocolate cookie dough. Jim
of chocolate chip cookie dough and 12 packages of double chocolate cookie dough
Gabriella sold 4 packages of chocolate chip cookie dough and 3 packages of doubl
dough for a total of $80. Find the cost each of one package of chocolate chip cook
package of double chocolate cookie dough.
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4) Bill and Jasmine are selling fruit for a school fundraiser. Customers can buy small

| \P‘[‘ arge boxes of oranges. Bill sold 9 small boxes of oranges and 14 large boxes of o1

U\ $397. Jasmine sold 1 small box of oranges and 7 large boxes of oranges for a total
cost each of one small box of oranges and one large box of oranges?
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Solve each system by elimination.
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Solve each system by elimination.
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Solve each system by elimination.
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